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Section - A
giE - H

01. A student asks a question from his teacher and his teacher 1s not
able to answer what teacher should do ? _

(1) He should say that he will answer after consultation.
(2) He should scold the pupil.

tion is usecless.
{3) He should say that the ques  ie |
(4] He should tell the student thatitis not of his standard.

v BT ST SETE § U We Jed1 ¥ Sl SHH SHUH Al
ﬁﬁmaﬁ%&tam@rwmaﬁﬁ?

(1) aﬁmmaﬂﬁﬁﬁﬁmwm%aﬁw|
2) 3 BF P erear aed |

(3) 3w Afed R me B H T
(4) aﬁw%mmﬁﬁﬁsmaﬂ%mmaﬁ%l

02. Which one is not true for a teacher ?
(1) Teacher is the leader of his class.

(2) Teacher is the manager of his class.
{3) Teacher is the dictator of his class.
(4) Teacher is the facilitator of learning of his class.

@W%mwwqﬂ%?
(1) ammﬁmnwﬁmam%l
(2) maﬁﬁzﬁmzﬁrmwmﬁl
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When majority of children become restless, disturbed and disobedient
in the class, the teacher should examine :

(1} Influence of outside elements in claas :
(2) Home environment of the learners |

(3) Co-cutricular and other attractions in the school

04,

(4) Subject knowledge and teaching method

[1) w#mﬂf&r%maﬁ
mﬂ’f%ﬁqmmq%.

[3) R & srgee T o s amader @)

4) P a9 wer steney ffr 5y

(3) Achievement @) Improvement
Hﬂm ey ST Prey ? e Rie R & 7
(1) rRwEm (2) STgwWEA

(3) e (4) =Ry

The, major objectives of education is

(4} Making studcnts followers of tcachera
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07.

(1) AT # g S

(2) BET B FAGAHT B

(3) omEt § fafe swrarelt & AEHE ST
(@) ot S e B ST &

Discipline means .

(1) Strnct behaviour (2) Severe Punishment
(3) Obedience | (4) Going by rules
FATE & A ®

(1) &= Fqer (2) THOIT &8

(3)  STRIRRITT () Framl & AFAR

Mohan is a student of grade 4 with visual deficiency. He should be :
(1) Excused to do a lower level of work. '

(2) Helped with his routine work by parents ar.ld fricnds.ﬂ .
(3) Treated normally in the classroom and provided suppo

Audio CD’s.
(4) None of the above.
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08. For inclusive environment in language class, it is necessary that :
(1} Al needs of the students should be taken care of,
(2) Students should be'taught many languages.
(8) Students should be given various audis-visual aids,
(4) Too humble attitude should be kept towards mmm

(1) .A\;'rjiacz:aﬁc. ; (2) Goal directed behaviour
@ Dimmfamn (4) Superiority complex
ﬁ‘ | - I AR s ot S § ?
Sy a (4) Sear &t amer

- 10. The most effective method of behaviour modification in children -

7 -
A P.T-o.
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11. In which year Indian Parliament enacted RCI Act ?

(1) 1986 - (2) 1992

(3) 1993 ) 2000

wiedg €95 A e ad s, 4. o, fafEs g9l ¢
(1) 1986 # (2) 1992 #

(3} 1993 X (4) 2000H

12. Facilities of Education in Mother Tongue is given In :

(1) Article 350(A) . (2) Article 300

(3) Article 45 (4) Article 56

Argwren # {0 g < g

(1) BT 350(A) H . (2) SR 300 H

(3) HIDT 454 (4) orgERE 56 H
13. SUGAMYA BHARAT ABHIYAN is related to :

(1) Divyang (2) .Women

(3) Children (4) Young people

g wRd SRR qd99 B ¢

(1) Rer | (2) wfgem |

(3) @Rt 8 (4) gaweAr A

14. Which one is not the aim of BETI BACHAO, BETI PADHAQ YOJANA ?
(1} Prevention of gender biased sex selective elimination
(3} Ensuring Job opportunity for girls. | y
(3) Ensuring education and participation of the girls chil
(4) Ensuring survival and protection of the girls child
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ﬁmﬁ%w‘%wﬁﬁtm&ﬁ’%maﬁwaﬂ%?
(1) ﬁmwwmﬁﬂmmﬂm
(2) oSt § Al B oEwe ghiier FeT

(3) mﬁﬁmmmﬁmgﬁﬁaﬂm

(4) m%mqﬁwﬁgﬁﬁwm

A review of NPE-— 1986 Programme of Action (POA) was done by ;
(1) National Commission for teachers:

(2] Yashpal Committee

(3} Ram Murti Committee

(4) Hansa Mehta Comififitee

e R AR-1986 T e R el o o -

(1) m&mmmﬁm
(2) T Bz

@) gl A Ty
(41 & e S amy

Which of the following Asticle of Constitution of India is related to
prohibition of Discrimination oh gromn race, caste, sex
£ |

. or place of birth ?

(1) Article 14 (2) Article 15

(3) Article 16 (4)- me 21

R o w:i:r:ﬁaﬂﬁ X aﬁr ' aa.ﬁ .-
(1) orrde 14 - (2) SF=8% 15

@) IgBT 16 - @ STe% 21

P.T.0,
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17. Objectives of education are decided by :
(1) Philosophy of Education
(2} Sociology of Education
(3) Psychology of Education

(4) Measurement and Evaluation

foren @1 Geed Teliida I ©
(1) FRwEm =r 9= | (2) fmew @ GHISTAA .

(3) famm @1 wfeET (a) o ST FEIEA

18. Which one is not included in objectives of Right to Education

Act - 2000 ?
(1) Announcement of Education as Fundamental Right of Children
(2) Establishment of School Management Committee

(3) To encourage democratic dicentraligation at school level

(4) To improve the quality of highcr education

wﬂmaﬁﬁw-mag%@ﬂﬁﬁﬁqﬁﬁmmﬂa

T8 B 7 . :
(1) Forer G AT W1 D AR W HT
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g 211
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NIVH is located at :

(1) Dehradun (2) Delhi
(3) Shimla (4) Mussoorie
o, . . oH. W Rem § 7

(1) - ¥eTE (2 Rt

(3) T (4) Agh

(3] . NCERT : (4) AICTE

Pt # R B et & Rdy w0 ¥ Brar o e 8 7
(1) & 8@ . . (2) &R d. ond

B) @, M. £, X @ 2 o, & & §

Find out the missing item from the following :
Mt B & g a3 s A

(1) 10 | ® 1
(3) 12 (4) 13 |
<
11

P.T.0,
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22. Find out the missing item from the following :
Frsr # @ g U8 H & B

13| 6 4J
5]8ls
1]6]?
1y 7 (2) 10
(3) 8 (4) 13

23, Average age of three individuals is 60 years. The age of first individual

1

is E‘*‘ of other two individuals, What is the age of first individual ?

dr7 vt 2 olvem i 60 ad ¥ 1 wE @R B oG S A
A o1y A o B TR WE A oG Y 7

(1) 45 (2) 40
3) 36 - (@) 38

24. Among 49 students in the class Kareem’s position is 16" from the
top. What will be his position from the bottom ?

(1) 32¢ (2) 33
(3) 36 (4) 34"
40 SRt % He § Hh & e A | 16t B 17 o IEE
o1 B 7 )
(1) 324 (2) 3341
3) a6ar (4) 349

12
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What is the 7 letter at the left of 18% letter from the left in English
Alphabet ?

mmﬂmaxﬁm%ﬁﬁwmw?
0 B . 2 Y
3 L | 4) M

- At 8.30 PM what will be the angle of long hand and short hand of the

clock ? |
maﬁmaﬂaﬁf%a@@%ﬂ
by o & €9 5 8
(1) 90° | L. @ 750

(3) 600 - (4) 859

Directions : Choose the group of letters which is different from others
of the following

Prdar mm#émmmwmmmmamm
I} BD . 2 K
@ PN . . 4 sy

Directions : ‘Choose thgg-‘r_:'up of letners which i is d!ﬂ'erent from oﬂ1m
of the follewl.ng

ey : mﬂawmwwmm@maﬁaa
(1) BCD . ) t2] KMN '

(3) QRS (4) . GHI.

13
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29. Student got twice as many sums wrong as he got right. If he

attempted 48 sums in all, how many did he solve correctly ?

B ) R 59 T8 F T et ¥ SEE G 99T e H W
fhaﬁr%m&qsﬁifaz%nﬁmtﬁrmﬁﬁmﬁﬂtﬂnﬁﬁﬁ?

(1) 12 2) 16
(3) 18 | (4) 24

30. In a garden, there are 10 rows and 12 columns of mango trees. The
distance between the two trees is 2 metres and a distance of one
- metre is left from all sides of the boundary of the garden. The length

of the garden is :

w10 GRvrdf e 12 T A oM B WH AW S I H
2tﬁaﬁmmﬂmﬂm_ww=ﬁ{&ww%amﬂ%m
srft

(1) 20m (2) 22m

(3] 29m (4) 26m

14
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Section - B
qE - 9

31. If the function [(i;]= X3-24%? + k-8 is . - | |
value of k is : . is maximum at x = 2, then the

AR BT fiy) = x1-24x2+ kx- 8, x=2 U IRAS T A k w7 AW B
(1) 84 | (2) 78
@) 65 4 s6

32, 'S:e equéhon of tangent to the parabola y?= 4x at the point (1,2) will
B3 (1,2) W TRawd yo= 4x B Wil @ T RwoT BT

(1] x+y+1=0 (2 x-y+1=0
B) x-y-1=0 4) x+y-1=0

_ (1og.” |
33. The value of }:}},‘[%{J will be equal to :

mi @ o @ 2 1. K-

34. If H“Jma?m }Q’Wm the vajue of gpwill be equal to ;

R jo~06 =7 w35 3 A T Ay
M s s 8 8 @ 7

-
]

18
P.T.0.
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1+2i

38. The argu;uent of E-i-will be equal 10 :
2 i A A
I 3n 2n 3
s @2 3 3) @ 3

36. 1f "P, =" P, =" P,,, then the value of n will be :

aR "p P =P, A n H AN AL AW
1 @) 2
(3) 3 4 4

a7. If [: R—R is defined by f(x) = ax + b; 2, b, xeR and x#0 , then the
value of £'(y) will be equal to :

g f: RoR, flxy =ax+b;a, b, xeR T x#OERTqﬁWﬁE%,Eﬁ
fiy) B T SEL BT

=g y—-b

() T yeR @ I=,yeR
: y+b

@ L= yeR @ L2 yeR

38. If a.fy are the roots of ax + bx + ¢ = 0, then the value ‘cff o3+ B+ > will
be equal to :

qﬂ'gx’+hx+c=0 & oA aBy gf ar u3+[33‘+-r'3 ?ﬂqﬁ FUET B ¢

oD o) el {

16
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39. The Co-ordinate of the centre of a circle passing through the points
(-3,-1), (-1,3) and (6,2) will be :
gt (-3,-1), (-1,3) T (6,2) ¥ BrT oA, o ©F TH B D
& fdsnis enr
(1) (2-1) @ .(2,1) 3) (3,-1) 4 3,1

40. If OA =3i+2j~k and OB =1+3j+k, then the area of AOAB will be
equal to : | :

. .
(1) 545 square unit (2) %Jﬁ square unit

r 3 .. : . ' g
(3) :.;410 square urit (4) . §¢13 'square unit

I OA=31+2j-k WM OB=i+3j+k, T BT OAB ® A¥uwer

la:. .

(1) '5'45 it g (2) %ﬁ TF Fonrg
. | ,

(3) V10 I g (4) ngs it T

. nxX ) ; :
41, If fix)= tan’—ﬁ—, then the value of f'(2) will be :

R g a0 A r0) wowey Rr:

on
4
@ F e ¥
% .
o 3
B 3 (4) f’
17 .Piruo.
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42. If 10 sin'a+15 cos*a= 6, then the value of 27 cosecta + 8 sec®a, will

be cqual to :
(1) 245 (2) 230
(3) 255 | 4} 260

af 10 sinq+15 cos®a =6, @ 27 cosec®a+ 8 cec®a, HI HIT UM
Bnm -
(1} 245 (2) 250 (3) 255 4) 260

43. let A be a non singular matrx of order 4x4, then 'ac'h A is equal to :

qﬁ&‘i%%ﬁ‘éﬁl@waﬂa‘ﬁﬁ;iﬁ\ajﬂ & HiA AT
:

(1) Al @ Al
3 Af (4) |A]
: ".ﬂ:l=£j and the plane
44. The angle between the line =5~ ~3%7g

10x + 2y-11Z = 3 will be equal to

ESC]| o W o7 §Had 10x+2y-11Z =3 & dr g H BT
2 3° 6
FUET B |
48
1 sin'l[%) @ cos (Zﬁ)
o pe
( 3) sin"‘ {_ﬁ_) (4) cos (—'ﬂ'

18
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45, Positive value of m for which the coefficient of x? in the expansion of

(1+x)™ is 6, will be equal to ;

m P TRHS A Prad A (1409 & gar § x w7 quiw e B,

-

ST B :
(1) 4 ~ {2) 5
" 3) & | o @4 7 .

_ xdx -
46. The mﬁ-f(x-uf(::ﬂ} vﬁllbee_qualto :

I{K;‘fﬁ;féj B WF IUET EW
o w3 o (3
B) log };‘-’-] (4) log (g—g)
47. The polar form of (~3v2+3V2 i) will be :
(-3V2+321) a1 geita =y @ :
(1) 3(@‘%‘--@0&%) (2) -G(mi?_imﬁ’l

(3) 2( f-+ipos-%J

1 cc:;s—’f- i sin—~
3 4) [ 3+1sm3]

P

P.T.0.
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1 %

48. The principal value of cot“('"—J will be equal to:

49,

3

cor -5 o g e e

37
2n L
(1 T 2 3
4n
3 = (4) 3
3 -2 LD
If A2 = KA - 2], wherch=[4 _Q]andh[o 1 . then the value of K
will be equal to :

. 3 -2 10 +
afzaz=m-zx,'ama=[4 _2] EI?ITI*LO 1} , A K @& A &F0 ¢
(1) 1 (2) 2
@ 3 4 4

If @ is a cube root of unit, then the value of

{1+m—m’)(m+m’-1](m’+1-m) will be equal to :

qfE o SHE B Tb T g, ar {l+m—m“)(m+m‘“-l)(m2+1-m)asl
qR &TET B |

(1 -2 2) -4

(3) -6 4 -8

20
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51. Suppose that any relation R is such that R={(4,5),(14)(4,6},(7,6),(37)},
then the value of R-'QR* will be equal to ;

1 R A e R g T ¥ R R=(45)0.9(46)7,6,(37)
T R'OR™ B W AT BOT ¢

W {@n6ams)) @ (5.(e1).63)
3) {(5.4),(6,7),(4.7)) (@) {(4,6),(57),(1,7)
52. moﬂﬂmmdth:dlﬂum&ﬂlzqu&hnn %2 -
will be equal to : |
(1) 2and1 | (2) 2and?2
@) nms | (4 2and4 -
ST R %@f“' f”{%)} & Fife 3T ameg HAs: I
(1) 2991 1 (2) 2% 2

(3) 2¥w 3 4) 27T 4

_ dx
- 83, M?ﬂwﬁfmwﬁﬂbe,equa!tq:

oo ™ "= T #n

(1) —hﬂ[::i] R I(ZJ Elr'mn_l [x_;i]
@ el . @ e =5
23

P-'!%O.
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54.

§85.

56.

If the velocity of Projection is 19.6 metre/second, then the maximum
range of the projectile will be equal to :

(1} 39.2m/s (2) 36.4m/s

(3) 42.3m/s (4) 328 m/s

g gRqer TRy 19.6 Hiet/ B9 &, A WG P AYHTH TIH
SRET 8RN ¢

(1) 39.2%./9. (2) 36.47./8.

(3) 42.349./9. (4) 32.8 %t./4.

The maximum and minimum resuitants of two forces are F and G
respectively. If the angle between them is g, then their resultant

will be equal to :

3 e & wEaw qur W uroml e F AW ¢ ¥) A I
HeY oo T FNOT B, al Il UIRUTHl EF

(1) JF?cos?a +G?sin’a 2) JE?sin’a+G’cos’a
B JF*+G? 4) Jr2-G*

If a cylinder has the height 10 cm. and the radius of each side 3 cm.,

then with the help of definite integral the curve surface of that
cylinder will be : '

(1) 30n cm? (2) -‘-}5;: cm?

(3) 60mcm? . (4) 75n cm?

afx o A F HE 10 Aft. oo w@% Y @ B 3 9. §,
3 Pifad G BN 39 9T H FHYS B

(1) 30 &R (2) 45x GHP

3) 60n @AP (4) 75x QAP

22
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57. If Planes F.(i+2]‘+317:)-13 anc[ f‘.(ﬁ-bﬁj-?ﬁ)-g are perpendicular to

eachother, then the value of k will be equal to :

3R W 7] +2]+3k) =13 T (A + 2] - 7k =0 p-gHY & v
g, W kW A TEL 1

(1) 15 121'_17 @ 19 @ 21

58. If P {4 -13 , P (B] = 3 and P(AﬂB)=— then P (A/B) ie. the

coz:ai;tmmlmbablhtyuf&mn thatBhasalmadyomumdmllbe
- equalte: .

I PA) - 13,P(BJ-—-WP(MB)= ﬁtpmm}mmﬁ
sipar s R ARar ¥, B wedt & sRw & gwr B, qwraw @

7 3 A 9

@ 3 ® 7 ® =

P

g

§9. The dmtanﬁ: of a pomt (2,5,-3) from the plane (61~ 3]+ 2k}« 4 will
be equal to : '

wor £(61-3j+2k)= 4 & Reg (2,5,-9) F g8 s @ -

e i | 13 15
13 @2 = @ & (4) -1;3

23 P.T.0.
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ifferenti ion x2X. 4 2y = x?(x #0)
60. The integrating factor of the differential equation Ka )
will be equal to : |

FFEH GHIHTOT x%-+ﬁy=x’{x¢0) Eﬁrﬂﬂﬁﬁﬁgﬂlﬁﬁw@!’ﬂ:
(1} 2x (2) 2x° (3) x (4) x?

.2 ik
61. The value off i E —d will be equal to :
usm*ﬁ-hcﬁ-.-; 3]

R

j’.‘smﬂ —do T AT FTET B
> Sin"@+cos'8

n " E
(1) = @ 3 @ 3 4 g

62. The approximate (nearest) value of f (2.01) while f{x) = 4x?+ 5x + 2 will
be equal to :

f(2.01) BT Qi=rHe dF &1 f(x) = 4x*+ Sx + 2 G B :

(1) 28.00 (2) 28.21
(3) 28.56 (4) 28.62

63. At which value of %, the value of function x3- 2x2+ x + 6 will be
minimum :

x%ﬁmmqu'{mxz-zxumﬁmrmﬁﬁa@m:

1 1
(1 1 @ 2 8 3 @ 3

24
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64. The solutions of -8< 5x -3 < 7 will be ;

-8< 5x -3 <7 &A B :

(1) —%Sxﬂ.’r (2) --151-'::&4:5_
(3) —%ﬁxss | (4) —%cxsﬁ
| __ 30)(30) (30)(30 30Y/30
on. et (oo )-( T2+ i s e st
(33-::&]_ 30\(30 30)(30Y | |
o l1o) {1 Jlua - +[20J 30] T A FGET B

M *C @ % - @ %, @ “C,
66. If "C,="C,, then the value of %G, will be equal to :

M °Cy =", ﬂf"""cm‘m qUET BT
(1) 415 (2) 448 (3) 465 My 49

; 4 iy .
67. If m’9=§~_,thenthegenera1value of g will be':

oot %
R sec’0=2, W o B AUH A AT
T x "n"" ;
3. @ ™5 @ wC)'G @) o

- l.r

(1) 2nnt

P.T.0,
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68. The probability of getting 53 Fridays in a leap year will be equal to :

UH AT 39T A 53 YHAR B & wiideRar enlt

& 2 3
m = @ < @z @ =

69. If 0.04x + 0.02 y = 5 and 0.5 (x-2) + 0.4 y = 29, then x and y will be
equal to : .

7% 0.04x +0.02y =5 T 0.5 (x-2) +0.4 y =29, Wx Ay T
B - _

(1) x=80,y=40 . (2) x=90,y=40

(3) x=100,y=50 . (4 x=110,y=50

70. When —w < x <1, then the solution set of [x —1]+/x —2| 2 4 will be :
TE _wex<l, A |[x-1|+[x-224 T BT FF=T BN :

0 (] o
o] el

71. A ball falls down from the roof of the room and jumps twice on the
floor and reaches upto the half of the height of the roof, then the

Coefficient of Restitution will be equal to :

s i FE H Ba Q Il ¥ R we 9T A A IuEET B
S & oY 7 e 8, Ol WEEd ONd AR e

1 1 i i

() (i-]’ 2) [-;—) @) G) ) (%)

26
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72. The radius of the circle 2x?+ 2y?- 3x + 5y ~ 7 = 0 will be egual to :

g 2x*+ 2y?-3x + 5y -7 =0 @ Brour e €

(1) %Jl—o 2 -%Jl_s
(3) 6 - (4) 8
1 LA 1 18
73. The term independent of x in the expansion of (ﬁ+m) x>0
will be ;
Yz b
EYiry x>0 TR F x @1 TN 97 &hn -
1 G @). "Cogr
L -
@ “Croy @ Cog
74, m;alm o n'terms of the sexies : 5+ 11 + 19+ 29+ 41 +,.... will be
eq to e
A S+ 11+ 19+ 29 +41 +.... Hn G H G TET 80T
m’ (n+1?6(n+5) 2 n(n+12(n+5)
27 . 4\2 : : S
@ B (I:;i-'l) a@) n(n+22(n+4)
"B -
P!Tto4.
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75. The characteristic equation of the matrix

1L 2 3

3 1 1,

13 1

WF -1 4| g7 facrerr gHieTT BR

(1) 22-22-181+30=0

4 2 3
g =i 4

1

will be

(2) 22+A%+181+30=0

(3) 3 +2?2+182+30=0 (4) -22+22-18,+30=0

76. The congruence solution of 51x =32 (mod 7) will be :

51x =32 (mod 7) F1 &1 &7 BFT -

(1) x =5 (mod 7 (2) x = 3 (mod 7)

(3) x=4(mod?7) (4) x =2 (mod7)

77. The general value of log (-3) will be :

log (-3) 1 SATYH HIF EFT ¢
(1} log, - (2n + )=l

| (3) log(-3) + (2n+ Dri

28

(2} log, +(2n + 1)=i

(4) log (-3) —{2n + ljxi
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78. The area of region bounded by the curve y = x* and the line y = 4 will
be equal to : '

(1) Sa—zsqumunit | @ 1—5aqtmt_e'unit

(3) '?Bquareumt (4} %squamunit_

W y =TT W y=4 § PR 8= 9 {3%a aw= oo -
W 5 o @ St

43 -
@) - o @ -

. af X e H L :
79. If sin '[‘g)*m *[;]2 7 then the value of x will be equal to :
- i ot > w® -
R ﬂn‘(g]woscﬂ (;J=§, at x & HAF TOET By

m 1 @ 2 @33 @) 4

abe

- 80, ]fR=8cminthetriangl‘eABe.ﬂ1_mthevahmof_r(&+__b*cjwillbe
equal to : T

abe _
© WX AABC & R=8cm, r(a+b+c) ™ HIT BT
(1) 16 (2) 37 B) 48. (4 64
a9

T.0,
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81. 1f q denotes first quartile of a random variable X having cumulative-

distribution function as given below then value of g-1 is :

0: x'k’.U
F(x)=12x~-x* O<x<l
1 x =21

0, x<0
F(x)={2x-x* 0sx<l
1 x2l

F 5
" %3 @ Hy B~z # N

82. Mark of 80 students is supposed to have normal distribution with
mean 70. If we draw a random sample of 20 students then what will
be most probable number of students in sample having marks more

than 70 ?

aomﬁ%aﬁaﬁrmmmm%mwﬁﬂéﬁ&qﬁmsﬁ
maqmwﬁmmﬁwﬁmﬁmmqﬁaﬁmﬁ

£ waifos gwia wem Fa &l ?
(1) 70 (2} 40 (3) 39 - @ 10

30
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83. [f2Y~X + 3 =0 is regression line Y on X and its angle with regression
line X on Y is 45° then coefficient of correlation between X and Y will
be :

AR 2Y-X+3 = 0,Y QX F a9rsnaer Yar ¥ ool ewr X v Y
F THET @ B WG g 450 8, X ARy B i gEwwy
gﬂﬂ!ﬁﬁ?ﬂﬁﬁ?ﬂr -

= i ]
(1) .5 @ 3 (3) ,E_ 4) -;-

84. If random variablepx &m type | distribuﬁon a,b}, th
- randor ,b}, then the
distribution of random variable Y = 1 - X will be : )

it SALELELE TR UL DA Lo

() B (1Lb @ B (ba)
B Bab | @) By(bia)

L

85. Mcan and variance both of a variable X havi frequency distributi
as given below arg 10, - - o =

mx%ﬁmﬁfaamﬁﬁmqéma?ﬁam%
- Class Interval X,-X, X,-X, XX, XX xﬁ"xe &"7 XX

(x,-a - -
di =—= » ) -3 -2 -1 0o 1 9 3

f A ¢ 3 4 4 4 3 1
What are values of X, and X, ? i

X, SMCX, & AT 7y Boie,
m 215 @ 518 (3) 0,10 (4) 3,17

31 P.T.0.
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86. Which of the following is true relation between Pearson’s §, and 8,

87.

88.

coefficients ?

e & §, T p, Torier @ 9 Prafafea w=wf 3 & FF-49
oY qE R 7

(1) B 2B -7 (2) B, 2B -5

(3) B;2B -6 4) B,20,-8

If X is a single sample drawn from binomial population b (4,8] and
nuil hypothesis H,:9=0.2 is tested with critical region X 23, then

approximate level of significance of the test is :

aﬁf&qaa‘maﬁm&bm,a:%x@aﬁﬁum&ahw
IR H, 9= 0.2 H oy 8 X>3 it BN B aF TO&T &
qrfeRar TT T B

(1) 5% () 3% 3) 2% @) 10%

The distribution function of a continuous random variable X is
defined below. The value of constant a is :

o T AEREE AXX W HeA e fread GReid 2, 9T a
A B

0 x<0
F(x]m(ax’ 0<sx<4

U x4

L i A s o 1
M 16 2 756 (3) 64 (4)
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89. A bi-variate random variable (X,Y) has following probability distribution :

91.

X+y
15 °

Correct relation among E(X}, E{Y) and E(XY)is :
o Rret ages a3 (XY) & g de fFreaa § -

PX=x,Y=y]= fx=0,]landy =1, 2, 3.

PX=x,Y=y]= ,%1 , A x =0, lm}'=1'2’3’

E X, B ) TE (Kv) & drr g8 qerw B -

(1) E=E{Y) 2) E(XY)<EX).E(Y)
3) EY)=EX)" & BEH<E(Y)
If Xarl Pearson coefficient of skewness, coefficient of variation and

magie of._a mriablc are 0.2, 0.8 and 48 respectively then mean and
standard deviation of X are ;

AR T B e R S T, R i v

A 0.2,0.8 MR 48 B, N ¢ D "5rsw X g R=e 2o
(1) 50,10 | (@) 52,20

(3) 25,16 | (4) 48.4,20

Which of the following is not.appropriate for graphical representation
of quantitative variable ?

(1) Box plot N {2) Piechart

(3) Stem-leaf chart (4) Histogram
W—ﬁammmamﬁm%mmw
(1) feq @itz @) -

(3) STS-g<ii =1e (4) g e

33 P.T.0.
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92. Which of thc- following in not a part of t-test ?
(1) Samples be drawn from normal population
(2) Population be normal with known variance
(3] Population be normal with unknown variance
(4) Population be normal with known mean

- Prafafaa & § $9 +T0%T 1w W9 T8 B 7
(1) wferast wamwg d== @ fomar w@ar &
(2) TEfe gEET wd TS TERO H OBl
(3) HERE gEWT od S GO H 8
(4) wHRe SEMIFY Td ST AtA H 8l

©3. Which of the following Latin square design in mot possible in the
design of experiments ?

TP & gre 3 B & BF-1 9T Afed @ aiEq e 8 @Ear ¢
(1) 3x3 | (2) 2%2
(3) 4x4 (4) 66

94. Suppose that cholesterol levels in a certain population are normal
with mean 200 and standard deviation 24. The mean cholesterol level
for a random sample of 9 individuals was measured as 180. The
z-score of measured sample mean is :

HE & B e yamrg gafte § ofigd Fieed ddd 200 T 1S
R 24 1 9 ATl & U agfess gferasis @1 afrEeter f|a

180 2, wfaaslsr ofraa &t Z-=iIT ®
(1} -3.75 (2) 2.5
(3) -0.83 (4 -25

34
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95. A stratified random sample of size 10 students is to be selected from
the following information about three colleges :

WQW@W%WWJDWWWW

College  NO. ofstudents Standard Deviation
A © 200 2
B 300 1
C - 100 3

Hnjv many studeats wil be dt:laéted_-immv college C under optimum
T ST R & T CR P e g o 2
(1} 3 - 2) 1 (3] 2 4 4

96. Gradient of fertility in a field is- East-Weat..'M a randomised block
demmtheh!ﬂbka'wﬂlbemdeindirecﬁm: B

(1) Northi-West * (2) East-West

(3) East-South (4) North-South -

TH @ q el qd-
m%mﬁmw&mwm%“m
(1) IR-RRET (2) gE-afem .

(3) w-Afer L {4) ST "

97, Am ma&ktd, wtwéeanswarm either TRUE or F , tD 1(le
randomly selected persgns. 61 6f them gave FRUE answer. What will
be the val:;pof Ci_peaquare if null hypothesis is P (TRUE).P(FALSE)=3:2
AT T § g W 100 ARG § 0 w9 98T Ty RreE o
A E U ST T v | I R 61m-ﬁgtﬁﬁ R, IR
T GRFRTT A, 5 P(eF): P(M)ea:2 & wrf-wmrk o1 W B -

1
g o Bl @ ..ﬁli @ g

35 P.T.0,
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98. X, X,, X1 is a random sample from a population with mean gand

99,

variance g”respectively. Which of the following statistic :
T,= X,~-2X))

To= (X~ X}

Ty= X+ X,+ X))/3

T,= (X, + 3X,+ X,)/9

is unbiased as well as having mhﬂmum variance ?

{1) T, 2 T, (3) T, 4 T,

o X, X, X, g W JER g2 oy wAERe & Aghed diaes @
ar -

T - (X, = 2%
T, = (2%, - X,)
T,= (X, + X, + X,)/3
T,= (X, + 3X,+ X,)/5
¥ Y B orREd T Gy & | gAad FET A S ¢
(1 T, 2 T,

2

3) T, (4 T,

Mean and standard deviation of a random sample of size 15 are 10
and 5 respectively. t-stafistic is obtained to test nuil hypothesis H,=12.
If value of each observation is decreased by 2 then the value of new

t-statistic in comparison of old will be :

{1) Smaller (2) Larger

(3) Unchanged (4) Changed but not certain

36
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15 UiEsiST I U A giesl & qrE, 9 fAges s9e 15
ST 10 B, L WREHeT H=12 % qleror 3 t-olfehern Fremen St
g, aﬁnﬁwxfw%nﬁm@%mzmmﬁqmﬁra&

t-SHAD B YN G § BT ¢
(1) ®ter (2) &St
(3) STaRaffa - 4) aRaffa gt sffRe

100.1f M,,V, denote the mean and. variance of n ranked observations in
case of non repeated observations and M,,V, are mean and variances
mcaseofmpeawdrankﬁthen,whmhofthcfoumngrela&onswﬂl

*‘be true ?

(@) M,=M, () V=V,
© V,>V, @ Vv,<V,
(1) (@ anmd@) @) () and (d)
(3) (a) and (¢) (4) (b) and (d)

afx R grogfRr @ aw # nwew & S Ay W& gERe S
M‘,v;;ltmﬁﬂﬁmﬂm,.vﬁ o Frer & § Bm-§ gy
T ET?

(@ M=M, . b) V,=V,

€ V,>V, : ) v <Y,

(1) (=) T (b) (2) (a) 3 (d)

(3) (&) 3T (o) 4) (b) T ()
37
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ROUGH WORK
Th &

38
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ROUGH WORK
Tk o

39
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10.

il.

12.
13.
14.

avafiral & ferg e

(Wgﬁm&mmwwmm-utwgﬂw
draer Fiefl-amet aer-eyge 44 @ ¥ o)

mgﬁwﬁaﬂﬁ%;oﬁﬂz%mﬁmﬁfﬂmﬂwgwgaﬂwﬁﬁ
m@ﬂé%mmqﬁaﬁmmem-mﬁmm
T & gud e W Wl |
Wﬂmw;mmm-w#mﬁmmmmaﬁéﬁqwmw
¥ F & |
sorr- o e @ ey mar 1 g 7t aF @k 7 A g &1 g 3AC-UF T4 e S
FaF I9T-0F & § Jodin (2 wam |
mmﬁmmﬂmmmfmmm-wqﬂwﬂmmmﬁ@
7. 4% & ¥OY S UT 47 & A0 AFHAEH ﬁmmwﬁ#wﬁfz’:ﬁw:;
Wmé'raﬁ-aﬂmﬁmm-gﬁmmmmﬂzmm
o7 ford) ' ’

o THo Ho A o, wpAgfiaeT SE @ e WO (IR EY #) 7o
fqu‘;m::aa:m: ait aito ;Tarrra o woer & R ¥ FufEE @ TR
:j:;zﬁfwafﬁiﬁuﬁmwmwmmmﬂ#mw u& gt

i REAT WA '
::f;;arf;;m%mmmﬁiﬁﬁmm$mm$m
mm-w#nﬁﬂfﬁtmﬁwwdm-wﬁmwwﬁ#nﬁ

& 37 & mer W |
gmﬁmm%m%aﬂ@ﬁqﬂﬁwﬁ;;faﬁﬁwﬁwm

o O 99 @) YU W W Eg I e ;A S
q;nfﬁ%w?nmmmmmwﬁmmisﬂmﬁm::?mm
aaewmmmﬁamamwmwmwma g

% 3 S ' |
:aﬁ%faqm-mawﬁmwwwm-m%mw

ﬁ! . .
:@ﬁ:mmm@mmﬂmmﬁmﬁgn
mWﬁﬁ%%mmmﬂmwﬁﬁW?@Wf
mﬁmmﬁmmﬁmmmé,aﬂmﬁmmm

&z e, Wl arvEr
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